Math 1220 Midterm 1 Formula Sheet i..onreesonoutan.can

n+1
J§ F®ydt = $52 o G —also

converges on I.

if n is even: 2.If VA at = a and f(z) is cont. on
(a, b] then same as 1. 3.If VA at

— — 1— 2 —
sin(cos ™! (2)) = cos(sin ™ (2)) = /1 — 22 sin2 gz = cos 2w z = c,c € (a,b) then

b
[ 5@z — @) - Fa)]
a 2 1

2™ Vo € (—1,1)

M8

b i m =
_ fb f(x)dz = lim _ ™ f(x)da+ =
/b f(z)de < — /a f(z)dz sec(tan ™! () = Vi+e? 2 1+ cos 2z @ lim mecf(:c;ldm 1-—=z 0
Ja Jb cos“ g = — poet Ip
1 Va2 -1 if o > 1 2 oo (—1ntlgn
/1dT — x4+ C tan(sec™ " (@)) = /2 o< B. Form 9 A sequence {an} converges if In(l1+z) = Z — Vz € (—1,1)
—yes -1 ife < -1 limy o0 an =finite num., else {an } n=1 n
. a1 /sinm' z cos” zda diverges.
- n+l,2n—1
z'dz — +C If °  a, is positive: 1.nth term co  (=1) z
1 n=k %n 18 P P arctan(z) = T
41 Da(sin~!a) = e (—1,1) ) test: TF limp — 00 an # O,then vz"gl[q N Zn—1
oy .2 : Iflm or n is odd: Pythag, else Half 2% ap, diverges. 2.Geom series. ,
’ ¢ a .. =
/f(l)rf (z)dz — T +C Z}ngFZrm Form: 332 ; ar™ a, k are constants = § ™ v "
p r . - e’ = —, Vz €
_1 - n!
s R Chapter 6 Dg(cos 1) = ~ e € (-1, , ., ® . first term =0 n!
a® +b% =C 1 1-= sin(ma) cos(nw)de Z ar’” = s iffr| <1 Taylors Theorm f(z) is on interval
N /*d‘:ln|ﬁ|+c D (tan—1 o) 1 n==k -r (a — R,a + R) the T.S. is:
A = —bh . z (tan T) = — / . .
2 sin(mex) sin(nx)dx
2 . 14w (m) sin(n) SN . £@) = fla) + £/ (@)@ — )+
Slope of inverse: Z ar“diverges if|r| > 1 " .
C =2nr, A=nr? -1 ! Urla) )2 4 L2a) (p gy 4
’ Dg(sec™ " z) = — |z > 1 /cos(mz) cos(nz)dx n==k 21 g i\
S =2ar? 4 27rh, V = nr2h ¢ W) = lelyas =1 3. p-series R is the radi £ ifF
) 1( ) use product Identities % ja the redicus of convergence A e
2 ) 2 _ 2 —1 _ o . imp 00 Rn(x) = e Remainder is
S =nr?+ar/r2 + h2,V = —arhn Dg(esc ta)y=——" " 1 £ 1 h
+ 3 Dy (e®) = & lely/e? — 1 sin(ma) cos(nz) = __ Jconverges ifp > given by
1, . — nP |diverges if p < —1
s 2, _3 3 Dy (a®) = a®(In a) } 1 (sin((m + n)a) + sin((m — n)a)) n=k RN
= 47rY, = —7r -1\ _ _ g _ n+1
4 Dy (logy #) = —~ Dz (cot™ " x) = 5 sin(ma) sin(n) = 4.Limit Comparison (LCT) Rn(z) = Y (z —a)
V3 w(logq ») = = - lzlya® =1 1 Ifan > 0,by > 0 and
2 _ — — . - n_. .
A= e - 6.9 Hyperbolic Functions 5 (cos((m + n)z) — cos((m — n)wz)) limm oo g = L and if 0 < L < oo, ¢ € (a — R,a+ R)choose C (as an
= cos(mez) cos(nz) = then $.°° , apandd 22, by converge endpt. to max. or min error)
. n=k n =k bn . .
Trig SOH CAH TOA cosh? @ — sinh2 @ — 1 %(cos((m + n)z) + cos((m — n)x)) or diverge together. f+7°= 0 AND TS with remainder T.S. at value x of
2 2 _np 302 . b converges, then f(z)plusRp ()
sin“(x) + cos®( 1 1 _ 7.4 Substitutions A. Form oo MacLaurn series(T.S. center at
sinha = —(e® — e~ T) L anconverges. 0)Vae € R
(=) sin(z) +c 2 Yz T8 5.Ratiotest
tan(z) = ——
cos(z) coshz = i(ez + 6*1) converges ifp<1 | e} (_1)n22n+1
2 u-sub with i An41 ) . sin(z) = >, —————
1 plim —— =p diverges if p>1 n=o0 (2n + 1)!
sec(x) = (=) Dy (log, @) = 1 Derivatives are same as normal unless w= Yas b an no conclusion ifp = 1
cos(a z(logg @) = ——— listed: B 2
x log a : O (—1)ng2n
1 H H 6. OCT(if you want squeeze theorem) If cos(xz) = Z _
D.(a®) = a%lna sh ) — si . B. Form /Quadratic Polynomial . ore |
sin(z) z(a”) . Dy (cosh x) sinh Do triangle sub based off of 0 lg a}i])g by for n > N (soem finite n—0 (2n)!
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diverges.

f(xz)dz goes

Sp =3P _ | anandBp = Calpt1 on
and use Sp to aprox the real sum of the
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converges.
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